SIZE - |IIK




4% [a5e(1)

B il |~ 5 e 15 - 575 8 fEE - 20 €5

et AT EEEREELE
« IRHE ?

« NIVEE? ﬁ/)
. E[ ? ‘ N\ - e
SEisrey

nr




R [EEE(2)

« NIRRT @ R BGE—NEEELOZRNE ?
« — Tb—RAET?
o ZA /\ : 7
fﬂ\”ﬁ% ; ZeuEIEE - 75 8 {EEE - 20 &£
o INTLHE R EER RS ALE?
- 2B ?

HERZFE—REBEE

BEER/NEE - R

AE = B EE AR
=5 |




=
&=

BEEHSS AR
IERr B B RES 2K |

=
B¥

e (3)

% [a]

\z\l
o<

ERT 1| 30

2 g | 28t

B E Y B LYY s

S

S
CRCRS ) smar iun

RS

245 il
226l

@@@@ @ 3ERT 5 EH

on | N
ZE 1 20821

1E5RT o 7 85| 188K

&

N
SRR

SERRS

N

s
Y Y ©

ECRS
O
Ny

)

0GR T > 8 & | 16&H

K

e




S| PR o] BERYE 25

mm% i

-M}




Bl 22

° *EE/LJ\ .

« 5B FRARYCIBER

o PRI

s 2R s

=gl

BI|2835% -

ﬂ%
'N}

WA ARTIRY -

« FEANTE

%ﬁ gs 28,
ZIE

=n A&
N2
== S

=H

—RREEH

]

ﬂﬂh‘

iR PRIE R A -

w7 R



% 5 [F] 5 -

?l:
b3
Talll
>IH

|

#include<stdio.h>

int main()

{
int lifeAllCount =
int liftChickenCount
int count = 0;

8, legAllCount =

——

5|55 & A
P Ol sE 2 =2

Bt ===

20;

= 0, liftRabbitCount = 0;

for (liftChickenCount=0; liftChickenCount<=1ifeAllCount; liftChickenCount++) {

LiftRabbitCount = lifeAllCount - liftChickenCount;
liftRabbitCount * 4 + 1liftChickenCount * 2;

count =
Iif (count == legAll
printf( chicken:
}
}
return 0;

Count) {I
od , abbit: %d\n", liftChickenCount, liftRabbitCount);
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